ol

MANAGED L3 ROUTING SWITCHES
MANAGED L3 ROUTING-SWITCHES

SWITCHS DE ROUTAGE MANAGEABLES L3
RRA—=PRBIIL—FTA VTR F

Quick Start Guide
Quick Start Anleitung
Guide de Démarrage Rapide

DAy o RE—HA R


https://manuals.plus/m/6d981940b4a9ee47f3efa20cdb62b37d985d06d09270ab1cdeefbedb1037841d

Introduction

Thank you for choosing the Managed L3 Routing Switches. This guide is designed to
familiarize you with the layout of the switches and describes how to deploy them in your
network.

i

S5850-2452C-DC/S5850-2452C/S5850-24S2C-PE

[vATalvavalv Tl avalvavalvayal

Accessories

$5850-24S2C-DC

Console Cable x1 Network Cable x1 Grounding Cable x1

lo
o0 @
QO = 1© o
Rubber Pad x4 M4 Screw x8 Mounting Bracket x2

T &

M6 Screw x4 M6 Cage Nut x4

EN



EN

S5850-2452C/S5850-24S2C-PE

Power Cord x2

Grounding Cable x1

Cable Clamp x2

=
)

M6 Cage Nut x4

Console Cable x1

00
OO

Rubber Pad x4

¥

M6 Screw x4

Network Cable x1

=

M4 Screw x8

Mounting Bracket x2

NOTE: 1. The accessories may vary from illustration, please prevail in kind.
2. This power cord cannot be used with other devices, and other power cords
should not be used with this device.



Hardware Overview

Front Panel Ports

| [clo]c]o0 e 0 ee0 000600000000 60 0000 ]UUUUUUUL)UL)L)L)L)L)L)UUUUUUUUUUUUUUUUUU
|
ETH USB SFP+ QSFP28
Ports Description
SFP+ SFP+ ports for 1/10G connection
QSFP28 QSFP28 ports for 40/100G connection
CON An RJ45 console port for serial management
ETH An Ethernet management port
USB A USB management port for software and configuration backup

and offline software upgrade

Front Panel LEDs

ID SYS QSFP28
| =
[Coeoreoeossosossoeessossssessesse O OO0!
o 2DUCLE Y
PxEusaustosausaustliesdos aus et aus O el

ey
L I 1] ]

SFP+ Breakout

EN



EN

ID

SYS

ETH

SFP+

QSFP28

Breakout

Blue The ID indication function is enabled.

Off The ID indication function is disabled.

Green The system is normally running.

Amber There is an alarm or error in the system.

off No power or no system runs or the system runs
abnormally.

Green The port is linked.

Blinking Green = The port is receiving or transmitting packets.

Off The port is not linked.

Green 10G port is linked.

Blinking Green = The SFP+ port is transmitting or receiving packets at 10G.

Amber 1G port is linked.

Blinking Amber The SFP+ port is transmitting or receiving packets at 1G.

Off The port is not linked.

Green 40/100G port is linked.

Blinking Green The QSFP28 port is transmitting or receiving packets at
40/100G.

Amber The port is in breakout mode.

Blinking Amber The breakout port is transmitting or receiving packets.

Off The port is not linked.

Loop Blinking ~ One or more 100G ports are in breakout mode.

Off None of the 100G ports is in breakout mode.



Installation Requirements

Before you begin the installation, make sure that you have the

following:

o Phillips screwdriver.

® M6 Screws.

e Standard-sized, 19" wide rack with a minimum of 1U height available.
e Category 5e or higher RJ45 Ethernet cables, and fiber optical cables.

Site Environment:

Do not operate it in an area that exceeds an ambient temperature of 45°C.

The installation site must be well-ventilated. Ensure that there is adequate airflow
around the switch.

Be sure that the switch is level and stable to avoid any hazardous conditions.
Do not install the equipment in a dusty environment.

The installation site must be free from leaking or dripping water, heavy dew, and
humidity.

Ensure the rack and the working platform are well-earthed.

EN



EN

Mounting the Switch

Desk Mounting

-

. /

1. Attach four rubber pads to the bottom.
2. Place the switch on a desk.

Rack Mounting

1. Secure the mounting brackets to the two sides of the switch with eight M4 screws.



2. Attach the switch to the rack using M6 screws and cage nuts.

Grounding the Switch

-

1. Connect one end of the grounding cable to a proper earth ground, such as the rack in

which the switch is mounted.
2. Secure the grounding lug to the grounding point on the switch back panel with the

washers and the screw.

ﬁ CAUTION: The earth connection must not be removed unless all supply
connections have been disconnected.

EN



Connecting the SFP+ Ports

EN

.

First install the SFP+ transceiver and then connect the fiber optic cable to the transceiver,
or directly connect the DAC cable to the SFP+ port.

CAUTION: Laser beams will cause eye damage. Do not look into bores of
A ) transceivers or optical fibers without eye protection.

Connecting the QSFP28 Ports

First install the QSFP28 transceiver and then connect the fiber optic cable to the
transceiver, or connect the DAC cable to the QSFP28 port.



Connecting the Console Port

b

1. Insert the RJ45 connector of the console cable into the RJ45 console port on the front of

the switch.
2. Connect the other end of the console cable to the RS-232 serial port on the computer.

Connecting the ETH Port

-

\

1. Connect one end of a standard RJ45 Ethernet cable to a computer.
2. Connect the other end of the cable to the ETH port on the front of the switch.

EN



EN

Connecting the USB Port

Insert the Universal Serial Bus (USB) flash disk into the USB port for software and
configuration backup and offline software upgrade.

Connecting the AC Power

1. Plug the AC power cord into the power port on the switch.
2. Connect the other end of the power cord to an AC power source.

A WARNING: Do not install the power cord while the power is on.

10



Connecting the DC Power

o

The front panel of the power supply indicates a DC inlet power socket and consists of one
terminal block connector with 3 contacts. Please follow the steps below to insert the power
wire.

“ Name Description

1 + Positive
2 - Negative
3 NULL Null

1. Insert positive/negative DC power wires into Contacts + and -.
2. Tighten the wire-clamp screws to prevent the wires from loosening.

EN



EN

Configuring the Switch

Configuring the Switch Using the Web-Based Interface

Step 1: Connect the computer to the management port of the switch with the network

Step 2: Set the IP address of the computer to 192.168.1.x ("x" is any number from 2 to 254).
Set the subnet mask of the computer to 255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q© Obtain an IP address automatically
~@ Use the g IP address:

IP address: 192 .168. 1 . 2
Subnet mask: 255 .255 .256. 0

QO Obtain DNS server address automatically

—@® Use the following DNS server

Prefrred ONS senver: ]

Alternate DNS server:

[] validate settings upon exit




Step 3: Open a browser, type http://192.168.1.1, and enter the default username and
password, admin/admin.

‘ ...... ‘
‘ @ English V‘

[0 Remember Password

Step 4: Click Login to display the web-based configuration page.

Configuring the Switch Using the Console Port

Step 1: Connect a computer to the switch's console port using the supplied console cable.

Step 2: Start the terminal simulation software such as Hyper Terminal on the computer.

Step 3: Set the parameters of the HyperTerminal: 115200 bits per second, 8 data bits, no
parity, 1 stop bit and no flow control.

Quick Connect X

Port: CcOomM3 v Flow Control
DTR/DSR

[JRTs/CTS
Data bits: ] XON/XOFF

Name of pipe: |

D Show quick connect on startup Save session
Openinatab

Connect Cancel

Step 4: After setting the parameters, click Connect to enter.

EN

13



EN

Troubleshooting

Loading Failure

® After loading fails, the system will keep running in the original version. At this time,
users should re-check if physical port connections are good firstly. If some ports are not
connected, then re-connect them to ensure that physical connections are correct, and
begin re-loading.

e |[f physical connections are correct, then check the loading process information
displayed on the super terminal to verify if there are input errors. If there are input
errors, correct them and re-load.

User Password Lost

If the system password is lost or forgotten, the following method can be used to reset the
password:

1. Connect the console port of the switch to the computer through the console cable.

2. Press ctrl + b to enter the Uboot mode.

3. Start the system with an empty configuration file with no password.
Bootrom#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E]:

NOTE: Forgetting your username and password and restoring them through the
console port may cause configuration loss and business interruption. Please
remember your username and password.

Configuration System Fault

1. Make sure the power supply is normal and the console cable is properly connected.
2. Check if the console cable is the right type.

3. Check if the control cable driver is properly installed on the computer.

4. Ensure the parameters of the HyperTerminal are correct.



Product Warranty

FS ensures our customers that for any damage or faulty items due to our workmanship, we
will offer a free return within 30 days from the day you receive your goods. This excludes
any custom-made items or tailored solutions.

Warranty: The products enjoy a 5-year limited warranty against defects in

materials or workmanship. For more details about the warranty, please check at
https://www.fs.com/policies/warranty.html

Return: If you want to return the item(s), information on how to return can be
@ found at
https://www.fs.com/policies/day_return_policy.html

Online Resource

For additional technical documents, visit:
https://www.fs.com/technical_documents.html

Scan the QR code to download and install the FS app from the App
Store or Google Play Store or go to
https://www.fs.com/appdownload.html

2 Download on the GETITON
@& AppStore Google Play

15

EN



DE

Einfihrung

Vielen Dank, dass Sie sich fiir die Managed L3 Routing-Switches entschieden haben.
Diese Anleitung soll Sie mit dem Aufbau der Switches vertraut machen und beschreibt, wie
Sie sie in Inrem Netzwerk einsetzen kénnen.

R SN S S R ]
i R T Ty PR T [ra]
]

$5850-2452C-DC/S5850-2452C/S5850-24S2C-PE

Zubehor

S5850-24S2C-DC

Console-Kabel x1 Netzwerkkabel x1 Erdungskabel x1
lo
o0 . ©
OO = ! o
Gummipad x4 M4-Schraube x8 Montagehalterung x2

T &

M6-Schraube x4 M6-Kafigmutter x4



S5850-2452C/S5850-24S2C-PE

Netzkabel x2

Erdungskabel x1

Kabelklemme x2

=
]

M6-Kafigmutter x4

Console-Kabel x1

Q0O

Gummipad x4

¥

M6-Schraube x4

Netzwerkkabel x1

=]

M4-Schraube x8

Montagehalterung x2

@ HINWEIS: 1. Bitte beachten Sie, dass das Zubehor von der Abbildung abweichen

kann.

2. Dieses Netzkabel kann nicht mit anderen Geraten verwendet werden. Andere

Netzkabel sollten nicht mit diesem Gerat verwendet werden.

17

DE



DE

Hardware-Ubersicht

Ports an der Vorderseite

IS eeoeessoeeeosessosessoseosseeooseeeseeeoseeesoseessesssseeee
eFs T T T T T TS TN T TR R TN TP P T FET Y

[P alvavalvavalvavalvavalvayal |vaValvavalvavalvavalvavalvaval |assbsv]

! e o

T
SFP+ QSFP28

T
SFP+ SFP+-Ports flir 1/10G-Verbindungen
QSFP28 QSFP28-Ports fiir 40/100G-Verbindungen
CON Ein RJ45-Console-Port fiir die serielle Verwaltung
ETH Ein Ethernet-Management-Port

Ein USB-Management-Port flir Software- und Konfigurationssicherung

uss und Offline-Software-Upgrade

LEDs an der Vorderseite

ID gys QSFP28
| -

b [ S00000000000000000000NT0000NN00DD000000TN0D0TN0D0N00000N000DT0N0

- 6Fs B
W i [l Rl iTalv v ol Evale i3] [vEvale Selvavalvivalr Salrazyl  [Lssss ]
o g
I —
E'I|'H SFP+ Breakout
LEDs m Beschreibung
D Blau Die ID-Anzeigefunktion ist aktiviert.
Aus Die ID-Anzeigefunktion ist deaktiviert.
Grin Das System lauft normal.
svs Orange Es liegt ein Alarm oder Fehler im System vor.

Keine Stromversorgung oder kein System lauft oder das System

Aus lauft nicht ordnungsgeman.



Status Beschreibung

ETH

SFP+

QSFP28

Breakout

Grin

Blinkt griin
Aus

Grin

Blinkt griin
Orange
Blinkt orange
Aus

Grin

Blinkt griin

Orange
Blinkt orange
Aus

Blinkt im Loop

us

Der Port ist verbunden.

Der Port empfangt oder sendet Pakete.

Der Port ist nicht verbunden.

Der 10G-Port ist verbunden.

Der SFP+-Port sendet oder empfangt Pakete mit 10G.
Der 1G-Port ist verbunden.

Der SFP+-Port sendet oder empfangt Pakete mit 1G.
Der Port ist nicht verbunden.

Der 40/100G-Port ist verbunden.

Der QSFP28-Port sendet oder empfangt Pakete mit
40/100G.

Der Port ist im Breakout-Modus.

Der Breakout-Port sendet oder empfangt Pakete.
Der Port ist nicht verbunden.

Ein oder mehrere 100G-Ports sind im Breakout-Modus.
Keiner der 100G-Ports ist im Breakout-Modus.

19

DE



DE

Installationsvoraussetzungen

Bevor Sie mit der Installation beginnen, vergewissern Sie sich, dass
Sie Folgendes haben:

® Kreuzschlitzschraubendreher.

® M6-Schrauben

® Ein 19"-Rack in StandardgroBe mit einer Mindesthohe von 1 HE.

® RJ45-Ethernet-Kabel der Kategorie 5e oder hoher und Glasfaserkabel.

Betriebsumgebung:

® Betreiben Sie das Gerat nicht in einem Bereich, in dem die Umgebungstemperatur
45°C Uberschreitet.

® Der Installationsort muss gut beliiftet sein. Stellen Sie sicher, dass um den Switch
herum ein ausreichende Luftzirkulation besteht.

® Achten Sie darauf, dass der Switch eben und stabil steht, um gefahrliche Situationen zu
vermeiden.

® |Installieren Sie das Gerat nicht in einer staubigen Umgebung.

® Der Installationsort muss frei von austretendem oder tropfendem Wasser, starkem Tau
und Feuchtigkeit sein.

e Stellen Sie sicher, dass das Rack und die Arbeitsplattform gut geerdet sind.

20



Montage des Switches

Tisch-Montage

-

. v

1. Bringen Sie vier Gummipads an der Unterseite an.
2. Stellen Sie den Switch auf einen Tisch.

Rack-Montage

1. Befestigen Sie die Montagehalterungen mit acht M4-Schrauben an den beiden Seiten
des Switches.

21

DE



DE

2. Befestigen Sie den Switch mit M6-Schrauben und Kafigmuttern am Rack.

Erdung des Switches

-

1. SchlieBen Sie ein Ende des Erdungskabels an eine geeignete Erdung an, z. B. an das
Rack, in dem der Switch montiert ist.

2. Befestigen Sie die Erdungslasche mit den Unterlegscheiben und der Schraube am
Erdungspunkt an der Riickseite des Switches.

ACHTUNG: Der Erdungsanschluss darf erst dann entfernt werden, wenn alle
a )\ Stromversorgungsanschliisse getrennt wurden.

22



AnschlieBen der SFP+-Ports

Installieren Sie zuerst den SFP+-Transceiver und schlieBen Sie dann das Glasfaserkabel an
den Transceiver an, oder schlieBen Sie das DAC-Kabel direkt an den SFP+-Port an.

./_\ ACHTUNG: Laserstrahlen kdnnen Augenschaden verursachen. Schauen Sie
nicht ohne Augenschutz in die Bohrungen von Transceivern oder Glasfasern.

AnschlieBen der QSFP28-Ports

Installieren Sie zuerst den QSFP28-Transceiver und schlieBen Sie dann das Glasfaserkabel
an den Transceiver an, oder verbinden Sie das DAC-Kabel mit dem QSFP28-Port.

23

DE



AnschlieBen des Console-Ports

1. Stecken Sie den RJ45-Steckverbinder des Console-Kabels in den RJ45-Console-Port an

der Vorderseite des Switches.
2. SchlieBen Sie das andere Ende des Console-Kabels an den seriellen RS-232-Port des

Computers an.

AnschlieBen des ETH-Ports

o

1. SchlieBen Sie ein Ende eines Standard-RJ45-Ethernetkabels an einen Computer an.
2. SchlieBen Sie das andere Ende des Kabels an den ETH-Port an der Vorderseite des

Switches an.

24



AnschlieBen des USB-Ports

Stecken Sie das USB-Flash-Laufwerk (Universal Serial Bus) in den USB-Port, um die
Software und die Konfiguration zu sichern und die Software offline zu aktualisieren.

AnschlieBen der AC-Stromversorgung

1. Stecken Sie das AC-Netzkabel in den Netz-Port des Switches.
2. SchlieBen Sie das andere Ende des Netzkabels an eine AC-Netzstromquelle an.

WARNUNG: SchlieBen Sie das Netzkabel nicht an, wenn das Gerat eingeschaltet
ist.

25

DE



DE

AnschlieBen der DC-Stromversorgung

\_

An der Vorderseite des Netzteils befindet sich eine DC-Strombuchse, die aus einem
Anschluss-Klemmblock mit 3 Polen besteht. Bitte befolgen Sie die nachstehenden Schritte,
um den Stromdraht anzuschlieBen.

“ \ET Beschreibung

1 + Positiv
2 - Negativ
3 NULL Null

1. Stecken Sie den positiven/negativen DC-Stromdraht in die Pole + und -.
2. Ziehen Sie die Schrauben der Drahtklemmen fest, damit sich die Dréahte nicht lockern
kénnen.

26



Konfigurieren des Switches

Konfigurieren des Switches mithilfe der webbasierten Schnittstelle

Schritt 1: SchlieBen Sie den Computer tiber das Netzwerkkabel an den Management-Port
des Switches an.

Schritt 2: Stellen Sie die IP-Adresse des Computers auf 192.168.1.x ein (,x" ist eine
beliebige Zahl von 2 bis 254). Setzen Sie die Subnetzmaske des Computers auf
255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

—@® Use the foll g IP address:

IP address: 192 .168 . 1 . 2

Subnet mask: 255.255.255. 0

(Q Obtain DNS server address automatically

—@® Use the ing DNS server

Preferred DNS server: l:l

Alternate DNS server:

[Jvalidate settings upon exit
o)

27

DE



DE

Step 3: Offnen Sie einen Browser, geben Sie http://192.168.1.1 ein, und geben Sie den
Standard-Benutzernamen und das Standard-Passwort admin/admin ein.

‘ ® admin ‘
‘ ...... ‘
‘ (®) english v‘

[0 Remember Password

Step 4: Klicken Sie auf Login, um die webbasierte Konfigurationsseite anzuzeigen.

28



Konfigurieren des Switches liber den Console-Port

Schritt 1: SchlieBen Sie einen Computer tber das mitgelieferte Console-Kabel an den
Console-Port des Switches an.

Schritt 2: Starten Sie die Terminalsimulationssoftware wie HyperTerminal auf dem
Computer.

Schritt 3: Stellen Sie die Parameter von HyperTerminal ein: 115200 Bits pro Sekunde, 8
Data bits, Parity auf None, 1 Stop bit und keine Flow Control.

Quick Connect X

Port: Flow Control
DTR/DSR
Baud rate: 115200 v D
[JRTs/cTS
el g ~] [IxoN/xoFF

Name of pipe: |

D Show quick connect on startup Save session
Openinatab

Connect Cancel

Schritt 4: Nachdem Sie die Parameter eingestellt haben, klicken Sie auf Connect.

29

DE



DE

Fehlerbehebung

Fehlgeschlagenes Laden

e \Wenn das Laden fehlschlagt, lauft das System in der urspriinglichen Version weiter. Zu
diesem Zeitpunkt sollten die Benutzer zunéchst iberprifen, ob die physischen
Port-Verbindungen in Ordnung sind. Wenn einige Ports nicht angeschlossen sind,
schlieBen Sie sie erneut an, um sicherzustellen, dass die physikalischen Verbindungen
korrekt sind, und beginnen Sie erneut mit dem Ladevorgang.

® \Wenn die physischen Verbindungen korrekt sind, Giberpriifen Sie die auf dem
Superterminal angezeigten Informationen zum Ladevorgang, um festzustellen, ob es
Eingabefehler gibt. Wenn es Eingabefehler gibt, korrigieren Sie diese und laden Sie
erneut.

Benutzerpasswort verloren

Wenn Sie das Systempasswort verloren oder vergessen haben, konnen Sie das Passwort
mit der folgenden Methode zuriicksetzen:

1. Verbinden Sie den Console-Port des Switches lber das Console-Kabel mit dem
Computer.

2. Driicken Sie strg + b, um den Uboot-Modus aufzurufen.

3. Starten Sie das System mit einer leeren Konfigurationsdatei ohne Passwort.
Bootrom#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E]:

HINWEIS: Wenn Sie lhren Benutzernamen und Ihr Passwort vergessen und tber

@ den Console-Port wiederherstellen, kann dies zu Konfigurationsverlusten und
Betriebsunterbrechungen fiihren. Bitte merken Sie sich |hren Benutzernamen
und lhr Passwort.

Storung des Konfigurationssystems

1. Vergewissern Sie sich, dass die Stromversorgung normal ist und das Console-Kabel
richtig angeschlossen ist.

2. Prifen Sie, ob das Console-Kabel der richtige Typ ist.

3. Priifen Sie, ob der Steuerkabeltreiber richtig auf dem Computer installiert ist.

4. Stellen Sie sicher, dass die Parameter des HyperTerminals korrekt sind.

30



Produktgarantie

FS garantiert seinen Kunden, dass wir bei Schaden oder fehlerhaften Artikeln, die auf
unsere Verarbeitung zurtickzufiihren sind, eine kostenlose Riickgabe innerhalb von 30
Tagen nach Erhalt der Ware anbieten. Dies gilt nicht flir Sonderanfertigungen oder
maBgeschneiderte Losungen.

Garantie: Fir die Produkte gilt eine beschrankte 5-Jahres-Garantie auf Material-
und Verarbeitungsfehler. Weitere Einzelheiten Uber die Garantie finden Sie

unter
https://www.fs.com/de/policies/warranty.html

Rickgabe: Wenn Sie den/die Artikel zuriickgeben méchten, finden Sie
Informationen zum Rickgabeverfahren unter
https://www.fs.com/de/policies/day_return_policy.html

Online-Resource

Weitere technische Dokumente finden Sie im Internet:
https://www.fs.com/de/technical_documents.html

Scannen Sie den QR-Code, um die FS-App aus dem App Store oder
Google Play Store herunterzuladen und zu installieren, oder gehen
Siezu

https://www.fs.com/de/appdownload.html

# Download on the [clagigell]
« App Store Google Play

31

DE



FR

Introduction

Nous vous remercions d'avoir choisi les Switchs de Routage Manageables L3. Ce guide a
pour but de vous familiariser avec la configuration du switch et indique comment procéder

a son déploiement.

S5850-2452C-DC/S5850-2452C/S5850-24S2C-PE

Accessories

$5850-24S2C-DC

Cable de Console x1

00
OO

Pad en Caoutchouc x4

T

Vis M6 x4

32

Cable Réseau x1

=

Vis M4 x8

e
=T

Ecrou Cage M6 x4

Cable de Mise a la Terre x1

Support de Montage x2



S5850-2452C/S5850-24S2C-PE

Cable d'Alimentation x2 Cable de Console x1

O/@)

Cable de Mise a la Terre x1 Pad en Caoutchouc x4

¥

Serre-cable x2 Vis M6 x4

=

Ecrou Cage M6 x4

Cable Réseau x1

=)

Vis M4 x8
lo

(@]
12 )

Support de Montage x2

NOTE : 1. Les accessoires peuvent différer de l'illustration, s'il vous plait prévaloir

en nature.

2. Ce cordon d'alimentation ne peut pas étre utilisé avec d'autres appareils, et
d'autres cordons d'alimentation ne doivent pas étre utilisés avec cet appareil.

33

FR



FR

Présentation du Matériel

Ports du Panneau Frontal

| [clo]c]oe e 0 ee0 e 0060000000000 0000 ]UUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUUU
|
ETH USB SFP+ QSFP28
Ports Description
SFP+ Ports SFP+ pour une connexion 1/10G
QSFP28 Ports QSFP28 pour connexion 40/100G
CON Un port de console RJ45 pour la gestion série
ETH Un port de gestion Ethernet
USB Un port de gestion USB pour la sauvegarde des logiciels et de la

configuration et la mise a niveau des logiciels hors ligne

LED du Panneau Frontal

ID SYS QSFP28
| -

B et L e S
T =
o | | e
ETH SFP+ Breakout
LED  Etat  Descripton
Bleu La fonction d'indication d’ID est activée.
" Eteint La fonction d’indication d’'identité est désactivée.
Vert Le systeme fonctionne normalement.
svs Ambré Il'y a une alarme ou une erreur dans le systéeme.

Pas d'alimentation ou aucun systéme ne fonctionne ou le

Eteint N )
€ systéme fonctionne anormalement.

34



ETH

SFP+

QSFP28

Breakout

Vert

Vert Clignotant
Eteint

Vert

Vert Clignotant
Ambré

Ambré Clignotant
Eteint

Vert

Vert Clignotant

Ambré

Ambré Clignotant
Eteint

Boucle Clignotante
Eteint

Le port est lié.

Le port regoit ou transmet des paquets.

Le port n'est pas lié.

Le port 10G est lié.

Le port SFP+ émet ou regoit des paquets a 10G.
Le port 1G est lié.

Le port SFP+ émet ou regoit des paquets a 1G.
Le port n'est pas lié.

Le port 40/100G est lié.

Le port QSFP28 émet ou regoit des paquets a
40/100G.

Le port est en mode breakout.

Le port de dérivation émet ou regoit des paquets.
Le port n'est pas lié.

Un ou plusieurs ports 100G sont en mode breakout.
Aucun des ports 100G n'est en mode breakout.

35

FR



FR

Conditions d'Installation

Avant de commencer l'installation, assurez-vous que vous disposez
des éléments suivants:

Tournevis cruciforme.
Vis M6.

Rack de taille standard de 19 pouces de large avec une hauteur minimale de 1U
disponible.

Cables Ethernet RJ45 de catégorie 5e ou supérieure et cables a fibre optique.

Site d'Installation :

36

Ne l'utilisez pas dans une zone dont la température ambiante dépasse 45 °C.

Le site d'installation doit étre bien ventilé. Assurez-vous qu'il y a un flux d'air adéquat
autour de l'interrupteur.

Assurez-vous que l'interrupteur est de niveau et stable pour éviter toute situation
dangereuse.

N'installez pas I'’équipement dans un environnement poussiéreux.

Le site d'installation doit étre exempt de fuites ou de gouttes d'eau, de rosée
abondante et d’humidité.

Assurez-vous que le rack et la plate-forme de travail sont bien mis a la terre.



Installation du Switch

Installation sur Bureau

4 N

\_ /

1. Fixez les quatre patins en caoutchouc aux quatre coins du bas du switch.
2. Placez le switch sur un bureau.

Installation en Rack

1. Fixez les supports de montage sur les deux c6tés du switch avec huit vis M4.

37

FR



FR

2. Fixez le switch au rack a l'aide de vis M6 et d'écrous cage.

Mise a la Terre du Switch

/

1. Connectez une extrémité du cable de mise a la terre a une terre appropriée, telle que le

rack dans lequel le switch est installé.
2. Fixez la cosse de mise a la terre au point de mise a la terre sur le panneau arriére du

switch a l'aide des rondelles et la vis.

é ATTENTION : La connexion a la terre ne doit pas étre retirée avant que toutes les
connexions d'alimentation ne soient déconnectées.

38



Connexion des Ports SFP+

\_

Installez d'abord un émetteur-récepteur SFP+, puis connectez un cable a fibre optique a
I'émetteur-récepteur, ou connectez directement un cable DAC au port SFP+.

ij ATTENTION : Les faisceaux laser provoqueront des Iésions oculaires. Ne

regardez pas dans les alésages des émetteurs-récepteurs ou des fibres optiques
sans protection oculaire.

Connexion des Ports QSFP28

Installez d'abord I'émetteur-récepteur QSFP28, puis connectez le cable a fibre optique a
I'émetteur-récepteur, ou connectez le cable DAC au port QSFP28.

39

FR



Connexion du Port Console

1. Insérez le connecteur RJ45 du cable de console dans le port de console RJ45 du switch.
2. Connectez l'autre extrémité du cable de console au port série RS-232 de l'ordinateur.

Connexion du Port ETH
4

.

1. Connectez une extrémité d'un cable Ethernet RJ45 standard a un ordinateur.
2. Connectez l'autre extrémité du cable au port ETH du switch.

40



Connexion du Port USB

FR

Insérez le disque flash USB (Universal Serial Bus) dans le port USB pour la sauvegarde du
logiciel et de la configuration et la mise a niveau du logiciel hors ligne.

Branchement de I'Alimentation AC

1. Branchez le céble d'alimentation AC dans le port d'alimentation situé sur le panneau
arriere du switch.
2. Branchez l'autre extrémité du céble d'alimentation & une source d'alimentation AC.

AVERTISSEMENT : Ne pas branchez le cable d'alimentation lorsque
l'interrupteur de mise en marche est en position ON (sous tension).

41



FR

Branchement de I'Alimentation DC

-

.

Le panneau avant de I'alimentation indique une prise d’alimentation d’entrée DC et se
compose d'un connecteur de bornier avec 3 contacts. Veuillez suivre les étapes ci-dessous
pour insérer le fil d'alimentation.

m Nom Description
1

+ Positif
- Négatif
3 ZERO ZERO

1. Insérez les fils d'alimentation DC positifs/négatifs dans les contacts + et -.
2. Serrez les vis du serre-fil pour éviter que les fils ne se desserrent.

42



Configuration du Switch

Configuration du Switch a I'Aide de I'Interface Web

Etape 1 : Connectez I'ordinateur au port de gestion du switch 3 I'aide du cable réseau.

Etape 2 : Définissez I'adresse IP de I'ordinateur sur 192.168.1.x. (""x"" est un nombre
quelconque compris entre 2 et 254.). Réglez le masque de sous-réseau de
I'ordinateur sur 255.255.255.0.

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

O Obtain an IP address automatically

—@® Use the g IP address:

1P address: 192.168 . 1 . 2
Subnet mask: 255 .255.255 . 0
Default gateway: L. - ]

(Q Obtain DNS server address automatically

—@® Use the following DNS server

Preferred DNS server: ‘:l

Alternate DNS server:

[validate settings upon exit
Co)

43

FR



FR

Etape 3 : Ouvrez un navigateur, tapez http://192.168.1.1, et entrez le nom d'utilisateur et le
mot de passe de défaut, admin/admin.

‘ ...... ‘
‘ English v ‘

[0 Remember Password

Etape 4 : Cliquez Login pour afficher la page de configuration Web.

44



Configuration du Switch a I'Aide du Port de Console

Etape 1: Connectez un ordinateur au port de console du switch & I'aide du cable de console

fourni.

Etape 2 : Lancez le logiciel HyperTerminal sur I'ordinateur.
Etape 3 : Réglez les paramétres de I'HyperTerminal : 115200 bits per second, 8 data bits, no

parity, 1 stop bit and no flow control.

Quick Connect X

Protocol: Serial v

Baud rate:
Data bits:
Parity:
Stop bits:

Flow Control
[Jotr/DSR
[JRTs/cTS
] XON/XOFF

Name of pipe: |

D Show quick connect on startup

Save session
Openinatab

Connect Cancel

Etape 4 : Aprés avoir défini les paramétres, cliquez sur Connect pour entrer.

45

FR



FR

Dépannage

Echec du Chargement

® Aprés |'échec du chargement, le systéme continue de fonctionner dans sa version
d’origine. A ce stade, les utilisateurs doivent d'abord vérifier & nouveau si les
connexions des ports physiques sont bonnes. Si certains ports ne sont pas connectés,
reconnectez-les pour vous assurer que les connexions physiques sont correctes et
commencez a recharger.

® Sijles connexions physiques sont correctes, vérifiez les informations sur le processus
de chargement affichées sur le super terminal pour vérifier s'il y a des erreurs de saisie.
S'ily a des erreurs de saisie, corrigez-les et rechargez.

Mot de Passe Utilisateur Perdu

Si le mot de passe systéme est perdu ou oublié, la méthode suivante peut étre utilisée pour
réinitialiser le mot de passe :

1. Connectez le port console du commutateur a I'ordinateur via le cable de console.

2. Appuyez sur ctrl + b pour accéder au mode Uboot.

3. Démarrez le systéme avec un fichier de configuration vide sans mot de passe.
Bootrom#boot_flash_nopass

Bootrom#Voulez-vous revenir au fichier de configuration par défaut ?[Y|N|E] :

REMARQUE : Oubliez votre nom d'utilisateur et votre mot de passe et les
restaurer via le port de console peut entrainer une perte de configuration et une
interruption de I'activité. N'oubliez pas votre nom d'utilisateur et votre mot de
passe.

Défaut du Systéme de Configuration

1. Assurez-vous que l'alimentation électrique est normale et que le cable de la console est
correctement connecté.

2. Vérifiez si le cable de la console est du bon type.

3. Vérifiez si le pilote du cable de commande est correctement installé sur I'ordinateur.

4. Assurez-vous que les parametres de I'HyperTerminal sont corrects.

46



Garantie du produit

FS garantit & nos clients que pour tout dommage ou article défectueux dd a notre
fabrication, nous offrirons un retour gratuit dans les 30 jours suivant le jour ou vous recevez
vos marchandises. Ceci exclut tous les articles sur mesure ou les solutions sur mesure.

Garantie : Les produits bénéficient d'une garantie limitée de 5 ans contre les
défauts de matériaux ou de fabrication. Pour plus de détails sur la garantie,
veuillez consulter
https://www.fs.com/fr/policies/warranty.html

informations sur la procédure de retour a I'adresse

@ Retour : Si vous souhaitez retourner le(s) article(s), vous trouverez des
https://www.fs.com/fr/policies/day_return_policy.html

Ressource en ligne

Pour des documents techniques supplémentaires, visitez :
https://www.fs.com/fr/technical_documents.html

Scannez le code QR pour télécharger et installer I'application FS
depuis I'App Store ou Google Play Store ou accédez a
https://www.fs.com/fr/appdownload.html

£ Download on the GETITON
« App Store Google Play

47

FR



JP

1>orkO4o23>

ORI RE =V RBIL—TA IRy FEBBEVHIFV L EBICHODESTTVE
FoCDHARII AR FOBBEERY R T—IANDEATTEICDVWTHALE Y,

S5850-2452C-DC/S5850-2452C/S5850-2452C-PE

7Y —

$5850-24S52C-DC

d>V=ILr—=7I)Lx1

Q0
Q0O

L/ R x4

T

M6+ x4

48

Iy bT—2r =)L x1

(=)

M4 x8

A—
H==1]

M6 —SF vk x4

T2 =7l x1

RIVNTZryhx2



S5850-2452C/S5850-24S2C-PE

BRI—Fx2 d>V=ILr—2I)L x1

00
OO

F—27 =)L x1 dLINYER x4

¥

T=IONI5>T X2 M6 x4

=t
]
M67T—>F b x4

E L T7IEH)—DASRMNIBERTY,

FybT—0r =TI x1

=

M4 x8

RIVRT Sk x2

2. COERI—FIZMOMEERICITERTE LA X MIDERI— 2 DHERRIC

EALBVTIZEL,

49

JP



JP

N—FRIx7 D=

ZOYENRILDERE—-k

CON

T
ETH USB SFP+ QSFP28

SFP+ 1/10GHEFEFASFP+K—~
QSFP28 40/100G#E K FHQSFP287K—~
CON ) T7IVERARIASOY —)LR—k
ETH A =Ry NEER—
USB VINIITEREDNYITYTELOATZA NV TNITTT

w7 L—RRBUSBEER—k

N ©
0> RNRILOLED
ID SYS QSFP28
| -
dhe— [ S00000000000000000000N0NN0NN0NN00N000D0000NN00NN00NL00NU00O00OD0ODTP0!
N 6Fs T T e s
T S Py
| ! I | I —
ETH SFP+ Breakout

AT () IDRTHENEM T,

ID
SHAT IDRTAERENEN TT
=T (%) SRFLDNEEICEHELTVET,
svs 24T (7R) SRTFLICTS—LFEEIS—HEELTVED,

BRIASTVWRWIN S RTLDBELTVARWVWIN Y RTLNE

HAT EBELTOET,

50



ETH

SFP+

QSFP28

Breakout

RN (KR)
S ()
HAT
=T
=¥
=)
v
KT
AT (
SO (

(

(

%

3323

)
)
)
)

=)
i
HKT
=¥
HAT

)
)
)
)

R—rDIDILTVES,

R—bDNTY R ERZELTVED,

A=AV ILTVEE A

10G R—rH UV ILTWET,

SFP+ R—brHI0G TN T Y M EEZELTVET,
1GR—FHOUILTVET,

SFP+R—bFH LG TNy b EERELTVET,
R=bDIILTVEEA,

40/100G7R— AUV IETNTVET,
QSFP287R—hHY40/100G TN Y b ZXZELTVED,
R—bHTL—OF7IFE—RTY,
TLATTINR=DNT YR EXZELTVED,
A= ILTVEEA,

1D EDI00GR— AT L—U T IR E—RTY,
ED100GR—rHTL—IT I E—RTIEHDEEA

51

JP



JP

K

L] ° %g:

BEEMfF

REFICATORENESTVS I EZRER LTS,

TSARTAN—
M6
BEIUULETREY A D191V FIBS VY

A7V —5ed EDRIASA —H Ry M =TI ELVHT7AN—7—TIL

REBRIR

52

BEREN 45 CEBZ S CIIEALBVTIEEL,
REZFTISRBLORVSHICL. 21y FORBICERIDRNA HB L SICL TSIV,
FEIRRRE BT BT DI MY FAKETRELTUVS C L 2R L TIETE LY,
ZA1YFEBEDZVRBICRBELBEWVWTRE L,

RBIBFTICIE KRN RKERVEGERABRVELSICLTIEE L,

SYIBIMEEED+RIEINTVBZ E 2R L TR IV,



21 yFOED{TFF

TRIRIU K

o /

1 EEIC4DDOI LY RZEDF T E T,
2. 2y FENDLICBESEY,

SwIIIk

LIRSy bRy FORAEICMAR P8R TEELF T,

53

JP



JP

2. MR T =Ty EERBLT AIyF 23y Il &Y,

1y F DM
.

1. 7—Z7 =N O—k%E X1y FHEG 5N TWE Sy Uk E OB G = I8 R L&
ER
2. T—=RFV & TYIv—EX I TRAYFONYINFIILOEMRICEELE T,

A AR INTOBREGONMIMI SN TOWRVRD, 7— R ZIOA T BVTE T
(A

b4



SFP+7R— DI

.

FFSFPHEDa—IILERDF KT 7 AN =7 =TI 22— LI I 5D DACT—J L
ZSFP+AR— MIEHHERLE Y,

A AR L—H—XRIEBICHEBES X EI. BERELTICED2 IO T 71N~
T—=TNDREDEZAFHRNTE S,

QSFP287R— hD#E#t

FFQSFP2BE D a—ILZRDMF AT F7AN—T =TI ZEDa—ILICERT S BH\DACT —
TILEQSFP28R—MIBERLE T,

55

JP



JP

aAVYV—ILR— DR

1. AYV=IL T —TJILDORIAS ARV R Ry FRIEDRIAS A —ILR—MIELAHF T,
2. 7= DH5—HDix%EIVEI—ZDRS-232 U TILR—MIERLET,

1 —H Ry b R— b DEEH
a

-

1 1BEERIAS A —H Ry b =TI O—tiE IV Ea—RITHEHRLE T,
2. 7= DH5—H D% R FRIEDA —H %y bR—MIERLE T,

56



USB7R— b #Efi

USB%ZUSBR—MMIEAL Y IRII 7 EBRDNY I Ty I ELVA TS TDY TR T

TTYTIL—REITVET,

ACERI— RD#E#

1LACERI—RERAMYFOERR—MIERLE T
2. BRI—FOBS—HDUHZACERICELL X,

A s A ORET BT — RER FALT S,

57

JP



JP

DCERD#EHK:

- %

BREEBOT7OYRNRILICIIDCA VLY NERY Y M H D 3DDERERF DI DDIHFE
ARTE—THER SN TOVET U TOFIBICHESTERTIV—EHBAL TS L,

1 + ROT17
2 - FHT17
3 NULL Null

1. 7SR /RAFADCERTAV— 2+ CER-ICERLED
2. DAV —DEERVKSIC DAV — IS TR MmO ET

58



A1 YFDERTE

JITR=RAAIRA—=TT—RICLBHRTE

Step L: Ry b= =N EFERALTAYEI—2E Ry FOEER—MIBERLET,
Step 2: AYEa—2DIPT7RLZX%1192.168.1.x1 (Mx11d2~254DEEDEKF) I H TRy
<Y 22%T1255.255.255.0 1 ICRELE T,

Internet Protocol Version 4 (TCP/IPv4) Properties =]
General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

Q Obtain an IP address automatically

—@® Use the following IP address:

(O Obtain DNS server address automatically

—@ Use the following DNS server addresses:
Preferred DNS server: l:l

Alternate DNS server:

D Validate settings upon exit
Co)

Step 3: 75 UHEBIE Thttp://192.168.1.11 A S L. T 7L b D 1—H —% Tadming /X
Z27—RTadminiZ A LET,

‘ ...... ‘
‘ English v ‘

O Remember Password

Step 4: TLogin1 &)W I 2L ITTIR—ADBER—INRREINET,
59

JP



JP

aAY—=ILR— DS DRE

Step 1: AV =L =TI EFERL T AYEA—REXMyFOOAY —)LiR— b EFEGRLE
ED

Step 2: AYEa—#&_ETHyperTerminaliR DX —IFILY 7 &R L E T,

Step 3: HyperTerminal /NS X—4&THh—L—k(Baud rate) £115200. 7 — 2 Ew b
(Data bits)%8. /X)) 7 (Parity) 2% L(None). X b7 Ew (Stop bits) &1, 7O —l
fE(Flow Control)Z%& LICERE L F 7,

Quick Connect x

Port: COM3 v Flow Control
DTR/DSR
Baud rate: 115200 v U
[JrrsscTs
e 8 hd [J xon/xoFF

Name of pipe: |

D Show quick connect on startup Save session
Openinatab

Connect Cancel

Step 4: INFA—ZERE LTS5, [ConnectiZ Iy LTERLET

60



cSOWNSa—T427

O—F1>J D%k

o O—FTAYIICRMUIE S RTLIZTTON—2 3 TIELERIT & 3. COIBEICIE &
VBRI RR— hOERAEBHESDEHR T IBENHD X HEETNTLRLE—-
W5 235E6 13 BERLTYENLERNELVW L eBB LTS BO—T1 =/t
LTLTES L,

o YIBMAESNEE THNIE HyperTerminalilRRENZ O — T >V JUIBIER % FE:R
L ANZZD WA ZREER L TKIE SV A NS RD B2 GG EELTBO—Tr> oL
TLIZTLY,

dA—H—%/NZXT—RDHk

A—H—B/NRAT—RZPR LRI TNIIHBE U TOHETNZIT— 2y~ BN
TEEY

1L OYY=IT—=ILTRAYyFOIAVY—IILR—heaYEa—RICERLET,

2. ctrl+ b Z# LT Uboot E—RICADF T,

3. NRT—RBRLOEDFRET7AIVTIRTLZRE L FT,

Bootromi#boot_flash_nopass

Bootrom#Do you want to revert to the default config file?[Y|N|E]:

A AP —BENRT—REENTIAVY—ILR—DBEITT B ERED KDL
ERICEEZSIAREENHDET. - —BENRT—RERNEVELSICLT
<fEEL,

BREATLOREE

1L ERMNMEE T OAVY—ILT—TIUDELIERINTULS I L ERER LTS,

2. A= —TIHELWRA THREERL TS,

3. 2bA—UT=TILDORFAN=HAVE21—E—IZIELLA YR =L EINTVWSHHEEEL
TLIZTW,

4. HyperTerminal /NS X—ZHELWZ E ZREEELTIE SN,

61

JP



JP

SmfR:E

FSId. NRZLBBRUIIAREZLY ) 21— 3 0 ZFRE. SHOBKRICL ZHROBIE
FREDNHS1HE. BERIPEREZR T oBN530BURICER TRAEZ TS L
ZRIEL E£Yo

{REE: C DBEGRIE. M FIFEE EDORMRICH L TSERORERIZ IR L
£9, RADFMICDOVWTIE. TEROURLE CBEIEI L,
https://www.fs.com/jp/policies/warranty.html

B RGEZEFLEINZBEHAEICDOVWTETRROURLZ ZBBLIE S,
https://www.fs.com/jp/policies/day_return_policy.html

F23A42I))—2R

62

T OMDOFEMERICDWVWTIE. FTEROURLZ CERIZT L,
https://www.fs.com/jp/technical_documents.html

QRIO— RZEFAED. App StoreF fzldGoogle PlayX b 7H 5FST
TVEATYO—RLTAYZAM—ILTEXET, BLIIFTRD
URLICZZEZRLTLEE WL,
https://www.fs.com/jp/appdownload.html

2 Download on the GETITON
« App Store Google Play






(Q.C.PASSED )
Copyright © 2025 FS.COM All Rights Reserved.



